Board Problems:  LSN 35

1.  A manufacturer claims his batteries are better than the old style.  The old style were exponentially distributed in lifetime with an average life of 8 months.  One randomly chosen item was tested and failed at time 17 months.  Conduct a Hypothesis test on their new person’s claim, find P value and make a conclusion.

2.  Two items are now put on test. X1 fails at time 17 and X2 fails at time 21.5. 


a.  Use the test statistic X1 + X2 and conduct a hypothesis test.


b.  Use the second order statistic as a test statistic.

3.  Now use  X1 X2 as a test statistic and conduct the test. 

